Ubwutwpnidnipjwu db9 Yhpwnynn
wwunyjwuwnwuniebin

d
1378300

funqbtiph nwuwywu dwuwnwfunp tywwndwdp Yeunwuh, snpwgywd
wwwnywuwnwujnie
hpbuhg ubpywjwgunud £ pwg Yuwpwagnyu Ywd Jupnwgnyu gnyup dwynnhubipny
snp quugywd: Mwunjwunwuiniep upjwlyubph dbe £ U jnipwpwtgnip updwyp
wbwp £ wwpnwwyh 100 dp (50 nnqu): Snipwpwtsgnp upduyh ypw wbinnp £
Uoqwd |huh ywwndwuwmwunieh, wpunwnnpnn Gpyph, Yuqdwybpwniejwu
wudwunwdubipp, ubiphwih hwdwpp, Wwunpwundwu b yhunwubjhnygjwu
dwdlybiwnubpp W nnquiubpp, huy upquyubp wwpniwynn wninuhh ypw' yhunwy,
npuntin upywd [hup ywunyjwuwnwujnye wpunwnpnn juqiwybpwnyejwu
wuywunwp, upjwyubph phyp, utiphwih hwdwpp, Wwunpwundwu dwdybtivnp b
wwhwwudwu wwjdwuutipp: Ogunnwagnpddwu hwdwp duwgnpnwihu dwdybinp
wbwnp k (hup 10 wduphg ny wwlwu, huy ywhwwudwu gbipdwumnhbwup +2° dhusl
+8% C: Qtipdwyhu gnighsubiph wnlwynipyniup wwpunwnhp £ Mhuwyh Jpw wybnp
E updwd |huh «MbGunwlwt ywwngbip» pwnbpp: Mwundwunwugnyep wbinp
gpwugywd |huh Cwjwunwuh <wupwwbnniejniunty:
Muwuwnywuwnmwuniep whnp b hwdwywunwuuwuh GYypwupwlwu inunbuwlwu
dhnijwt dwpuwjht nmwpwdpnd wuwutwpnidnijwu bt ogunwagnpdynn
nbnwdhongubiph ubpdniddwut b thnfuwnpdwup UEpYwjwgynn ywhwugubiphu:




